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Activity 6:                   (Fill-in all the blanks and solutions!) 
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(T <=
(A >=


(H >
(M >=
(V >


(C >=
(E >=
(N <


(B >
(U >


(R >=
(S >
















image1.png
- X

Scanned from a Xerox Multifunction Printer (005).pdf - Adobe Acrobat Reader DC

le Edt View Window Help
Home Tools Scanned from a Xer... X @ signin
BEeBEBRQ OO 1 n DO = - FRRET ©Z

Too Fast!

Directions: Solve each inequality. To solve the riddle below, write each variable in the blank above its
answer.

. 1+8<6 6. A+7>-112 11. 8T <-120

. V-6>8 7.17M > -102 12.H+:21>-12

.N-(-3)<20 8. -13E < -91 18. 22C > -352

. 3U > 69 9.B+-14<-11

. -138 <-195 10.R+-3<5

Question: What caused the elderly man to walk so fast?

<2 < >-6 >23 >15

>-252

216 >-784 <17





